1999

[
[
[ 1999
[ 1 1999
1 (30 )
2'n 2°=2"""
A\B=A B=g
(AxC)\(BxD)=(A\B)x(C\D)
|A]=5 A 31
R A R A Ro RcR
Ri R A Rio R, A
<P,< > @#ScP S S
N | X <N,x> <I,x>
<G, *> G
<R,®,®> IRI=n <R,D,®>
<R,®,®> <R,®,8> <F,®,®> <R,®,®>
<L,< > ILI=n <L,< >
7
or 7
! ! ot
A L e B A B O o B S
1 1(14)
2 1(15)
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2 (8 )

(G,*)
(B,*)

(AnB,*) (G,*)

(An B)

3 (10 )

a  (A¥) (B,»)  (G.® a a (A, %)

A,®,®) N={F|f A A } A O f,geA’,

XeA

(f09) CO=FCOSg(x)
(F+9) CO=FCO®g(x)

(A,0,%)

4 (6 )

A=<L;,< 1,%,®D>
B ( A

5 (8 )

G= V,E

6 (10 )

G
G

E(G)=E(P) E(P)

7@ )

D(es,e2)

N(e) e

P(e) e

Q(e) e

E(ei,e2) er=e:
L(ei,€e2) e<e;
D(ei,e2) eile: ( e

B=<L.,< 7,*;,®>> f A B A

F(L)={F(X) |xel})

G 5
2k>0
k P. P P«
E(PY)
N(e) P(e) Q(e) E(ei,e) L(ei,er)
ez)
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8 (8 )

AX(—A(X) = B(X)) - VXC(X)=VX(B(X) - C(X))
AX(A(X) - VYB(X,¥))=—-VyIxB(X,Y) - VXA(X)

9 (12 )

—R(-PvS), Q-—=Sk P-(Q-R)
IX(AX) - VYB(Y))  WYX(B(X) - 3yC(y)) E WYXA(X) - 3yC(y)
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